

- $val = \mathbb{Z}$;
- $error = \{Err\}$;
- $\Delta cxt_f = var \times val + \{\bullet\}$;
- $env = var \rightarrow_f val$;
- $\Delta env_v = cxt_f \times env$;
- $\Delta env_f = name_{proc} \rightarrow_f (var \times s)$;
- $out_e = val + error$;
- $out_s = env + error$.

$$\begin{array}{l}
t ::= \Delta p \\
\quad | e \\
\quad | s \\
\quad | e_x \\
\quad | s_x \\
\\
e ::= c \\
\quad | x \\
\quad | + e_1 e_2 \\
\\
e_x ::= +_1 e_2 \\
\quad | +_2 \\
\\
s ::= skip \\
\quad | x := e \\
\quad | s_1; s_2 \\
\quad | if e s_1 s_2 \\
\quad | while e s \\
\quad | \mathbf{abort} \\
\quad | \Delta f(e) \\
\\
s_x ::= x :=_1 \\
\quad | ;_1 s_2 \\
\quad | if_1 s_1 s_2 \\
\quad | while_1 e s \\
\quad | while_2 e s \\
\quad | \Delta call_1 f \\
\\
\Delta p ::= s; \\
\quad | f(x) := \{s\}; p
\end{array}$$

$$\begin{aligned}
st(e) &= \Delta env_v \\
st(s) &= \Delta env_v \times env_f \\
\Delta st(p) &= env_v \times env_f \\
st(+_1 e_2) &= \Delta env_v \times out_e \\
st(+_2) &= val \times out_e \\
\\
st(x :=_1) &= env \times out_e \\
st(;_1 s_2) &= \Delta cxt_f \times env_f \times out_s \\
st(if_1 s_1 s_2) &= \Delta env_v \times env_f \times out_e \\
st(while_1 e s) &= \Delta cxt_f \times env_f \times out_s \\
st(while_2 e s) &= \Delta env_v \times env_f \times out_e \\
\Delta st(call_1 f) &= env_v \times env_f \times out_e \\
\\
res(e_x) &= out_e \\
res(s_x) &= out_s \\
res(e) &= out_e \\
res(s) &= out_s \\
\Delta res(p) &= out_s \\
\\
abort(Err) &= True \\
abort(ret E) &= False \\
\Delta abort(E_v) &= False \\
\Delta abort(E_v, E_f) &= False \\
abort(v, Err) &= True \\
abort(v, val v) &= False \\
abort(E, Err) &= True \\
abort(E, val v) &= False \\
\Delta abort(E_v, Err) &= True \\
\Delta abort(E_v, val v) &= False \\
\Delta abort(C_f, Err) &= True \\
\Delta abort(C_f, ret E) &= False \\
\Delta abort(E_v, E_f, Err) &= True \\
\Delta abort(E_v, E_f, val v) &= False \\
\\
ref &: cxt_f \rightarrow var \rightarrow Prop \\
ref((x, v), y) &= (x = y) \\
ref(\bullet, x) &= False
\end{aligned}$$

$$\begin{array}{c}
\frac{\text{ABORTE}(e_x)}{e_x, \sigma \Downarrow \text{Err}} \quad \text{abort}(\sigma) \qquad \frac{\text{ABORTS}(s_x)}{s_x, \sigma \Downarrow \text{Err}} \quad \text{abort}(\sigma) \\
\\
\frac{\text{ABORT}}{\mathbf{abort}, \Delta (E_v, E_f) \Downarrow \text{Err}} \qquad \frac{\text{CST}(c)}{c, \Delta E_v \Downarrow \text{val } c} \qquad \frac{\text{VARCXT}(x) \quad \Delta}{x, ((y, v), E) \Downarrow \text{val } v} \quad x = y \\
\\
\frac{\text{VAR}(x)}{E[x] \rightsquigarrow v} \quad x \in \text{dom}(E) \quad \Delta \wedge \neg \text{ref}(C, x) \\
x, \Delta (C, E) \Downarrow \text{val } v \\
\\
\frac{\text{VARUNDEF}(x)}{x, \Delta (C, E) \Downarrow \text{Err}} \quad x \notin \text{dom}(E) \quad \Delta \wedge \neg \text{ref}(C, x) \qquad \frac{\text{STAT}(s) \quad \Delta}{s, (E_v, E_f) \Downarrow o} \\
s; (E_v, E_f) \Downarrow o \\
\\
\frac{\text{FUNDECL}(f, x, s, p) \quad \Delta}{p, (E_v, E_f[f \mapsto (x, s)]) \Downarrow o} \quad \frac{\text{FUNCALL}(f, e) \quad \Delta}{e, E_v \Downarrow o \quad \text{call}_1 f, (E_v, E_f, o) \Downarrow o'} \\
f(x) := \{s\}; p, (E_v, E_f) \Downarrow o \qquad f(e), (E_v, E_f) \Downarrow o' \\
\\
\frac{\text{FUNCALL1}(f, x, s) \quad \Delta}{s, (((x, v), E), E_f) \Downarrow o} \quad E_f[f] = (x, s) \\
\text{call}_1 f, ((C, E), E_f, \text{val } v) \Downarrow o \\
\\
\frac{\text{FUNCALL1UNDEF}(f) \quad \Delta}{\text{call}_1 f, (E_v, E_f, \text{val } v) \Downarrow \text{Err}} \quad f \notin \text{dom}(E_f)
\end{array}$$

$$\begin{array}{c}
\text{ADD}(e_1, e_2) \\
\frac{e_1, \Delta E_v \Downarrow o \quad +_1 e_2, (\Delta E_v, o) \Downarrow o'}{+ e_1 e_2, \Delta E_v \Downarrow o'} \\
\\
\text{ADD}_1(e) \\
\frac{e, \Delta E_v \Downarrow o \quad +_2, (v_1, o) \Downarrow o'}{+_1 e, (\Delta E_v, \text{val } v_1) \Downarrow o'} \\
\\
\text{ADD}_2 \\
\frac{\text{add}(v_1, v_2) \rightsquigarrow v}{+_2, (v_1, \text{val } v_2) \Downarrow \text{val } v} \\
\\
\text{SKIP} \\
\frac{}{\text{skip}, \Delta ((C, E), E_f) \Downarrow \text{ret } E} \\
\\
\text{ASN}(x, e) \\
\frac{e, \Delta E_v \Downarrow o \quad x :=_1, (E_v, o) \Downarrow o'}{x := e, \Delta (E_v, E_f) \Downarrow o'} \\
\\
\text{ASN1IMMUTABLE}(x) \quad \Delta \\
\frac{}{x :=_1, ((C, E), \text{val } v) \Downarrow \text{Err}} \quad \text{ref}(C, x) \\
\\
\text{ASN}_1(x) \\
\frac{E[x \mapsto v] \rightsquigarrow E'}{x :=_1, ((C, E), \text{val } v) \Downarrow \text{ret } E'} \quad \neg \text{ref}(C, x) \\
\\
\text{SEQ}(s_1, s_2) \\
\frac{s_1, ((C, E), E_f) \Downarrow o \quad ;_1 s_2, \Delta (C, E_f, o) \Downarrow o'}{s_1; s_2, \Delta ((C, E), E_f) \Downarrow o'} \\
\\
\text{SEQ}_1(s_2) \\
\frac{s_2, \Delta ((C, E), E_f) \Downarrow o}{;_1 s_2, \Delta (C, E_f, \text{ret } E) \Downarrow o} \\
\\
\text{IF}(e, s_1, s_2) \\
\frac{e, \Delta E_v \Downarrow o \quad \text{if}_1 s_1 s_2, \Delta (E_v, E_f, o) \Downarrow o'}{\text{if } e s_1 s_2, \Delta (E_v, E_f) \Downarrow o'} \\
\\
\text{IF1TRUE}(s_1, s_2) \\
\frac{s_1, \Delta (E_v, E_f) \Downarrow o}{\text{if}_1 s_1 s_2, \Delta (E_v, E_f, \text{val } v) \Downarrow o} \quad v \neq 0 \\
\\
\text{IF1FALSE}(s_1, s_2) \\
\frac{s_2, \Delta (E_v, E_f) \Downarrow o}{\text{if}_1 s_1 s_2, \Delta (E_v, E_f, \text{val } v) \Downarrow o} \quad v = 0 \\
\\
\text{WHILE}(e, s) \\
\frac{\text{while}_1 e s, \Delta (C, E_f, \text{ret } E) \Downarrow o}{\text{while } e s, \Delta ((C, E), E_f) \Downarrow o} \\
\\
\text{WHILE1}(e, s) \\
\frac{e, (\Delta C, E) \Downarrow o \quad \text{while}_2 e s, \Delta ((C, E), E_f, o) \Downarrow o'}{\text{while}_1 e s, \Delta (C, E_f, \text{ret } E) \Downarrow o'} \\
\\
\text{WHILE2TRUE}(e, s) \\
\frac{s, \Delta ((C, E), E_f) \Downarrow o \quad \text{while}_1 e s, \Delta (C, E_f, o) \Downarrow o'}{\text{while}_2 e s, \Delta ((C, E), E_f, \text{val } v) \Downarrow o'} \quad v \neq 0 \\
\\
\text{WHILE2FALSE}(e, s) \\
\frac{}{\text{while}_2 e s, \Delta ((C, E), E_f, \text{val } v) \Downarrow \text{ret } E} \quad v = 0
\end{array}$$